CVIB

ri TECNIDEA CIDUE
€ B3R Szl

VIB 3% H 4 BH: TB / Elastic Components VIB Type: TB

L1 F L1 F L1
L B L B L
e ———— Lﬁ?j = —
[ — | oyal — i
i F—— - \> J kf*(z(“ ;N;)iA
1] A o T
2R @R sl 2R
D
R~F30/SIZE 30 R=F 40 50/ SIZES 40 and 50 R~ 60, 70, 80 100
SIZES 60, 70, 80 and 100
i"‘% ﬁ = N° Fa £y E.l
Type i max |max| N B D|F |L|LIW|/N|P|R S T | Weight
in kg
TB 30 RE020768 375 | 10° (1150 605 35|12 =3 50| 55|31.5| 45| 22| M12 |17.5| 0,30
TB 30 S RE020770 375 | 10° (1150 605 35|12 3| 50| 55|31.5| 45 | 22| M12S|17.5| 0,30
TB 40 RE020772 945 | 10° {1150 8 05| 541204 60| 65[40.5| 60 | 28| M16 |27 0,60
TB 40 S RE020774| 945 | 10° (1150 8 05| 5412004 60| 65[40.5| 60 | 28| M16 S| 27 0,60
TB 50 RE020776| 1930 | 10° | 760 10 55| 7412504 80| 90| 53 80 | 42| M20 |37 1,40
TB 50 S RE020778| 1930 | 10° | 760 10 55| 74 (2504 80| 90| 53 80 | 42| M20 S| 37 1,40
TB 60 RE020780| 3350 | 10° | 760 12 55| 76 (35 :05/100| 110 | 62 100 | 45| M24 |38 2,30
TB 60 S RE020782| 3350 | 10° | 760 12 55| 76 (35 :05/100[ 110 | 62 100 | 45| M24 S| 38 2,30
TB 70 RE020784| 5720 | 10° | 560 |[M12x40| 80 [40 =05)120]|130]| 65 105 | 60| M36 |40 7.00
TB70S RE020786| 5720 | 10° | 560 |M12x40| 80 |40 =5{120| 130 | 65 105 | 60| M36 S| 40 7.00
TB 80 RE020788| 11350 6° | 330 [M16x22|110 |45 2001210| 75 130 | 80| M42 |55 | 20.00
TB 80 S RE020790| 11350 6° | 330 [M16x22]|110 (45 2001210 75 130 | 80| M42S|55 | 20.00
TB 100 RE020796| 23000 6° 90 |M20x28| 136 |60 300|310 92 160 | 100| M52 |68 | 38.00
Fa: BAMNEN BLN %R / Max acceleration force in N
£y: ¥RZHAE ° / Oscillating angle in °
n: RORBREIEEEE U min" BT BAAEN«10° WMLZE 0 K3+ +5°
" Max crank rotation velocity in min” at the max angle ¥10° from 0 &« £5°.
CaricQVerso di avanzamento -Mﬂ

Feed direction

Loading Q:;&’h}

. ¥Scarico
Discharge
®

B 5IEER / Key:

1: J&#& / Sliding chute

2: VIB BT-F 2% %8/ BT-F suspension

3: VIB TB &E4F3k/ TB Drive head

4: ¥EEB 4 | Connecting rod

B: &0\ / Center of gravity

c: EiREHEE / Distance between centers (rod)

G: E& / Total weight

I: $48E / Distance between centers

Ly BREUBR B KKE (1.5-2 S) / Min Screwed-in lenght (1.5-2 S)
Re: BARE A / Crank radius

o: REAEM 20°F 30° / Rocker angle from 20° to 30°
B: THEAE | Working angle

30

R3320, 30. 60. 70, 80 F 100, #AFHR4W#H ; RTH 40 M
50, SAFE RS, RYM 20 B 70, AERABERBRL , RYH
80 #1100 , WEBAE R ME,

1T ]

ARREFRR , AEASEN RAL RREE.

A

VIB TB RRFNAHFTERA T ETLEERED. SEARTE
ERML , HBMESNIEEE RN,

P L]

7ZIS MATERIALS

The external body is made of steel in the sizes 20, 30, 60, 70, 80 and
100, light metal die cast in the sizes 40 and 50. The inner square is
made of alloy profiles from size 20 to 70, steel in the sizes 80 and
100.

TREATMENTS

The external body is oven-painted while the inner square is covered
with a RAL varnish.

DUTY

TB oscillating component is generally used as an elastic hinge in the
joint of the big end of the connecting rod. Compared to a traditional
ball joint, VIB type TB transfers the movement with a more
gradualness.



VIS 0 Fer==noels

T Ditssem: wertss 1B wisE
ﬂ CALCULATION EXAMPLE: Drive head TB selection

REHERIE / Given data:
n; BEFRE: 150 min! G SE& 5800 N
Rotation velocity: Total weight:
M2 4. A .
R.: i EAR SN 18 mm c: AT HHER: 250 mm
Crank radius: Distance between centers (rod):

REBIE | Unknow data:
R~Fi%&# | Size selection

HEF B | Calculation steps:

WBIRJc: _ 18 _ (70 oq 0.1= EUETARESEREH
Ratio R./c: 250 ' ' 0.1=value under that it is possibile to achieve an harmonic excitation

y: 2-arcsin Re 2-arcsin 18 =8.28°
c 250

V. ﬁﬁﬁg = Re'n.n:18‘n.150=2826mm/3
P* Periferic velocity 30 30 '
i A7 VZ-G  282.62.5800
@ Acceleration force: = BT =2485.13N
. Re -9810 19-9810

it RifERA—1 TB 60 44
Conclusion: It must be used one element TB 60

31



